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counts = dict() # empty dictionary
for word in words:
    if ______________:
        _____________
    else:
        _____________

# Add the key ‘hello’
# and set its value to 0
counts[‘hello’] = 0

# Get the value associated
# with ‘hello’
counts[‘hello’]

# Check if ‘hello’ is a key
‘hello’ in counts
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○ text = f.read() # text is a string

●

○ words = text.split() # words is a list of strings



f = open(‘the_hobbit.txt’)
text = f.read()
words = text.split()

In a hole in the ground there lived 
a hobbit. Not a nasty, dirty, wet 
hole, filled with the ends of worms 
and an oozy smell, nor yet a dry, 
bare, sandy hole with nothing in it 
to sit down on or to eat: it was a 
hobbit-hole, and that means comfort.

the_hobbit.txt



f = open(‘the_hobbit.txt’)
text = f.read()
words = text.split()

In a hole in the ground there lived 
a hobbit. Not a nasty, dirty, wet 
hole, filled with the ends of worms 
and an oozy smell, nor yet a dry, 
bare, sandy hole with nothing in it 
to sit down on or to eat: it was a 
hobbit-hole, and that means comfort.

the_hobbit.txt

f



f = open(‘the_hobbit.txt’)
text = f.read()
words = text.split()

In a hole in the ground there lived 
a hobbit. Not a nasty, dirty, wet 
hole, filled with the ends of worms 
and an oozy smell, nor yet a dry, 
bare, sandy hole with nothing in it 
to sit down on or to eat: it was a 
hobbit-hole, and that means comfort.

the_hobbit.txt

f

“In a hole in the ground…”

text



f = open(‘the_hobbit.txt’)
text = f.read()
words = text.split()

In a hole in the ground there lived 
a hobbit. Not a nasty, dirty, wet 
hole, filled with the ends of worms 
and an oozy smell, nor yet a dry, 
bare, sandy hole with nothing in it 
to sit down on or to eat: it was a 
hobbit-hole, and that means comfort.

the_hobbit.txt

f

“In a hole in the ground…”

text

words = [‘In’, ‘a’, ‘hole’, 
‘in’, ‘the’, ‘ground’, 
‘there’, ‘lived’, ‘a’, 
‘hobbit.’, ‘Not’, ‘a’, 
‘nasty,’, ‘dirty,’, ‘wet’, 
‘hole,’, ...]



f = open(‘the_hobbit.txt’)
text = f.read()
words = text.split()

In a hole in the ground there lived 
a hobbit. Not a nasty, dirty, wet 
hole, filled with the ends of worms 
and an oozy smell, nor yet a dry, 
bare, sandy hole with nothing in it 
to sit down on or to eat: it was a 
hobbit-hole, and that means comfort.

the_hobbit.txt

f

“In a hole in the ground…”

text

words = [‘In’, ‘a’, ‘hole’, 
‘in’, ‘the’, ‘ground’, 
‘there’, ‘lived’, ‘a’, 
‘hobbit.’, ‘Not’, ‘a’, 
‘nasty,’, ‘dirty,’, ‘wet’, 
‘hole,’, ...]



f = open(‘the_hobbit.txt’)
text = f.read()
words = text.split()

In a hole in the ground there lived 
a hobbit. Not a nasty, dirty, wet 
hole, filled with the ends of worms 
and an oozy smell, nor yet a dry, 
bare, sandy hole with nothing in it 
to sit down on or to eat: it was a 
hobbit-hole, and that means comfort.

the_hobbit.txt

f

“In a hole in the ground…”

text

words = [‘In’, ‘a’, ‘hole’, 
‘in’, ‘the’, ‘ground’, 
‘there’, ‘lived’, ‘a’, 
‘hobbit.’, ‘Not’, ‘a’, 
‘nasty,’, ‘dirty,’, ‘wet’, 
‘hole,’, ...]

len(words)



f = open(‘the_hobbit.txt’)
text = f.read()
words = text.split()

In a hole in the ground there lived 
a hobbit. Not a nasty, dirty, wet 
hole, filled with the ends of worms 
and an oozy smell, nor yet a dry, 
bare, sandy hole with nothing in it 
to sit down on or to eat: it was a 
hobbit-hole, and that means comfort.

the_hobbit.txt

f

“In a hole in the ground…”

text

words = [‘In’, ‘a’, ‘hole’, 
‘in’, ‘the’, ‘ground’, 
‘there’, ‘lived’, ‘a’, 
‘hobbit.’, ‘Not’, ‘a’, 
‘nasty,’, ‘dirty,’, ‘wet’, 
‘hole,’, ...]



f = open(‘the_hobbit.txt’)
text = f.read()
words = text.split()

In a hole in the ground there lived 
a hobbit. Not a nasty, dirty, wet 
hole, filled with the ends of worms 
and an oozy smell, nor yet a dry, 
bare, sandy hole with nothing in it 
to sit down on or to eat: it was a 
hobbit-hole, and that means comfort.

the_hobbit.txt

f

“In a hole in the ground…”

text

words = [‘In’, ‘a’, ‘hole’, 
‘in’, ‘the’, ‘ground’, 
‘there’, ‘lived’, ‘a’, 
‘hobbit.’, ‘Not’, ‘a’, 
‘nasty,’, ‘dirty,’, ‘wet’, 
‘hole,’, ...]





●



●

○



●

○

○



●

○

○

○



●

○

○

○

■ None


